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10 B3FET(s) FHT(s) teig B (m/s?)
19.03 3. 621409 9. 811257
19.04 3. 625216 9.800954
19.08 3. 640464 9.759903
19.12 3. 655744 9.719109
18.91 3. 575881 9.936174
4 1.9036 + 0.007893 (s)
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‘eik B 9.80547961 + 0.000119347(m/s?)
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() | FRIRHB(Q | £E(Q B R (m) FTER(s) | 4B (m/
s2)
45 43 2 0. 784 4.86| 0.066385544
45 43 2 0. 784 4.91| 0.065040381
45 43 2 0. 784 4.88|  0.065842515
46 42 4 0. 784 2.33| 0.288824624
46 42 4 0. 784 2.34| 0.286361312
46 42 4 0. 784 2.31|  0.293847567
47 41 6 0. 784 1.7]  0.542560554
47 41 6 0. 784 1.7] 0.542560554
47 41 6 0. 784 .65 0.57594123
48 40 8 0. 784 1.42 | 0.777623487
48 40 8 0. 784 .41 ] 0.788692722
48 40 8 0. 784 1.4 0.8
50 38 12 0. 784 1.18| 1.126113186
50 38 12 0. 784 1.17]  1.145445248
50 38 12 0. 784 1.18| 1.126113186
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0.090724275(kg)

= 0.1256
0.088(kg) x 9.80547961(m/s?)

= 0.013205706(kg)
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HA(Q) | FRlRlEB(g) | 4 sEd(m) | TR (s) | %A (m/s?) | #rld(g)
10 10 0.512 .48 0. 467494522 1. 434896473
10 10 0.512 1.53 0. 437438592 1. 35629906
10 10 0.51 1. 49 0. 459438764 1. 413780072
10 10 0.672 1.65 0. 493663912 1. 503749472
10 10 0.67 1. 66 0. 486282479 1. 484288842
10 10 0.671 1. 69 0. 469871503 1. 44113427
10 10 0. 774 1.98 0. 394857668 1. 245819766
10 10 0. 772 1.93 0. 414507772 1. 296677154
10 10 0. 772 .84 0. 456049149 1. 40490597

@Rl FE TR 1.39795012 + 0.084639989(g)

1.55

1.434896473
1.413?0072

1 .356{9906

1.503}49472

1 .484?8842

1.44 1}3427

1.296?7154
1.245? 9766

1.404?0597

10




FRPFILERT )

B | FRREBQ) | £E() b FEHE (M) FTEERF(s) | 4vid B (m/s?)
43 45 2 0.784 | 2.47 0.257011261
43 45 2 0.784 | 2.48 0.254942768
43 45 2 0.784 | 2.47 0.257011261
42 46 4 0.784 | 1.73 0.523906579
42 46 4 0.784 | 1.76 0.506198347
42 46 4 0.784 | 1.76 0.506198347
41 47 6 0.784 | 1.53 0.669827844
41 47 6 0.784 | 1.47 0.725623583
41 47 6 0.784 | 1.48 0.715850986
40 48 8 0.784 | 1.32 0.899908173
40 48 8 0.784 | 1.3 0.927810651
40 48 8 0.784 | 1.34 0.873245712
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HA(Q) | FRlRlEB(g) | 4 sEd(m) | TR (s) | %A (m/s?) | #rld(g)
10 0 0.714 0. 85 1. 976470588 | 16. 16968612
10 0 0.71 0. 82 2.111838192 | 16. 68677061
10 0 0.71 0. 86 1.919956733 | 15. 95915211
20 0 0.7 1.33 ~0. 791452315 | 17. 26440421
20 0 0. 701 .43 ~0. 685608098 | 17. 67289041
20 0 0.7 1.39 ~0. 724600176 | 17. 52144043
30 10 0. 67 1. 76 -0. 432592975 | 18. 08432288
30 10 0. 67 1.67 ~0. 480476173 | 17. 79763756
30 10 0. 671 1. 81 ~0. 409633406 | 18. 22275151

FiplyE S FE 17.26433954 + 0.817290789(g)
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